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(1) EMBIRNER—IEFY > SR LML RESBZHAKESG o
(2) 8RR Cay—bx)2fk(x—a) (y—b) =0KFE (s b)) 2WE
B MG HALL T B AR
gy —k=0,.
(3) ERBmZE0, Ty =mxt-clfBiitniSy2 =4ax 2 2hEER » SR
¢= —2am—am®%
BILRESE—EY » —{MREEE =8 > B =
REMMR R E LR 2 SR o SRR B R B RN
| R 2 o
{4) RKBFZHRE

} xﬁ.— 32 x‘:‘ .__b'2 xf’-—cg =,.-0.

(x—a)2 (x—b)8 (x—¢e)8
(zFa)s  (xfb)S (%fe)d
(5) FRaibiict—bo—ca—sb WHMERM—~KET » L
( xf—yz ) T (y?—2x) 54 (z2—gy ) =8 (x2—yz) (y2—2x)
(z2—xy ) B—5EFFH
£6) ¥ hRZBHFTILR Bk o REBATIE » S8 BTX ( substends )
ABG > WHER > QI BB FAB KB T B 2o

B BB R

(1) FHomRe(x) ZREESEE - B £(0) RE(1) ABHBHK
5 BABEE (=) =0 MR o
(2) RBNLG RN
x+yfz=T
< x-1+r1+z-1==_g_.,
L
xyz=12
€8) BRRE|EZABZIIEEPE >R



® B Zz

a co8 AJb cos B-c cos C=4 R sin A sin B sin C»

(4) Sl RGE T R 222y ' —dx— 29 —5=0 1 y2-}-xy— B=077 2885

1,
Ze

B,

-9

B Sd=ifn a2 Eekdin 5L o

B IR

K -2 2 @ AR o
WHERAL _ l-x o Tpx _

N x2]2 —x Al 222 fx

2

it —_I—E%'?'?K G5t o
ER5E T FUR 2 ek ﬁf ( Interval of Convergenca )
1-‘ l l——l "i --[‘ ‘l“ 33 l—- +vu ve o

Hihx= x1 ’&rkﬂg{k"; U.’)?&S‘ i

% Sin x-]-cos x-“tan x=8ec xs

k x ZiEfH 0

A Z FRE SRR 25 F 5 4 BB IR b L TR ER IS 100382 52 » SIS
R Z A 600 5 Z 0518 2 /01 £E800 R R Z A a2 FEsk o |
o [REEASBREL( 05 1) B (05 —1) BHIEMNE » BRE—
BiTC. f5CHLAB 2 FE i~ L I3 — 8 ik ( [0k REICH it ) A CF

-—RIPs HACH . Z #1f4 > FBCERZMABZ AR —HAO (WO

A ECHTTHE ) AlC#E—HQ.

LesRP 2 B RH Bk OB RIRP R 5

Z'er Z GRS HHEHIE © UM FFQZ D2 ik 5
EHPHEQIE o

CIRVA SN

(1) 1R 3x°—2x—by B2z T3 4-9=0-
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2) g2k 'z o

(85 RMx* Fy2=1T2 504 » (EF4T R EMx +4y="5.
(4) REETBE (2,—5) 8 » HippTx>|-8y2—28x-80y+172=02

TN
8 320G JI KR
axtt o

(1) #& Bx__‘f*c =
(2) ﬁl% 2z —3x2—3x p2=U.
(8) ¥ ABCDE—A4TI#ET > ACE B M4 ° i BELBEMRER
AC> CDRADKF,GRE, Kk
}"E F—-G‘—‘- E——FQ.
(4 &R

sin2A —8intB
sinAcosA— sinBcosB

BIvARB RS
(1) B #8

(1) KHRNyS—by+|-9y —yuiBy1=0Z Fffd o
(2) R F#N

==tan(A 'I"B).

. 1
b R
((ay )l°gx=(‘x g4

b
Cax OB = by )18 0

(3) A/B:C B2 SRE » BINPH A, BHB. CHilk2 AlEiies
BLRPH ik 0

(4) BR-MZ--ER > REBRNZI08 > SHE NS E AN
W EREME o
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(5) BREABRBBATES I ABE 5—MCIZ /A £ ABCET0020°
) EICHR/B £ ACB %5 62950, L {BA CRIMIZFENES 10,6
B > AN ARS Z PR T 7
- gin 67030°=0,889
cos 70020’ .=0.3363)

(2) T-R#l

(1) RFBKxP—~1=0ZFfRo
(2 ®: ' o & b
| —a o d
f—b —d ' o
—c ~ea —f o
(3) BRABRREMZ ER » CRABMZ A1 » REIC/E—i4CDs 2 E 4R
ABJRE, (FED% fL5E R o |
(4) PEMFEZ=MNEBR—ZAT » REEY > S SEfAmmz
Rl 0 BRPE e IR E B o
(%) BREGed ) BRWZo

B 3[R R

CHAHE 0024808 5 ZHFEZe 48054 JH )
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1,

2.

4.

S
Ge
Te

1.

2,

8.

4.

T o Bt B B4 o
VAL 2B

EA%¥ T (a)SinA (I-ftanA ) FcosA € I-f-coth ) ==secAf-cSeAs
(b)) tanA }*tanB j-tanC =tanA tanB tanC. -
A-}B}C=1800,

{ 6x2 f'ley—- ’ﬂyﬁ_—_— 0

% (s < ’

L 3-;:'2;~xy Jdy2&—B=0.

S N N R N -t §

EE2OR o _LH—gRe > i LFEE60E > JIBRIRMAR

arc tan Oe 126, gl 2 & o

E¥ asbye 3 x0—8x2m2x [+ 1 =04 Z R - 7JHJ& HRE
1, 1 1

2— a—{._:S’ Z-—-m, 2 5—1‘;'

"RIB(—2s—2) B 222 —dxy [-2y2—x= O AFLIZ 1Tk o

*Eﬁ.ﬂﬁA("‘a]s)sB(qu);Ck1§3 VZ A GIE o :

— G5 =2 -y 2 =16 g — 2 E k== 640 4] > RILFHTGR DZ

Wighe )

B AL R U T &R |
EAF R 2x0x%8x-b= 0 2 HRE a,buts BRI TR HR
s 1.3y p¢tely,ccll 2
pacielyw el b Dommerrto
BRI PRI

B Ta AL P2
" 24-2x -3

HEBRAY= 5 gary 2 FRINE o
FEAE IR v2 =16x 2 K1 » OMSINE » PR SULie LiE—
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ba

Lo

3n

4.

")‘.

e

b

3a
4.

% » PQESEI% 3 BO WRPQIAL T ARFPIM LI RY 7 RRUZ
N 2. 75 B FAR R S

P—ABCE~IF _-ﬁﬂﬁt s HISTABCT: = 122 & 75 10 R m'i
APB,BPC,CPA £/l Fii) B5300, RUE = EPE 2 o

AL SR
U5 e —aet— 529 12552 | dx—2)=0,EL41 #-4R s — msby—hos
%Ml o
15051524848,6,6, T AL > (4117 5648 /130100002 = 1548
SRR A T2 I BB VIR S AT S M T 5 o
= AP TE — R A AB CHIE AR B 1P QR

BP _CQ =1.
CP “AaQ "

Ca ) #5A1B-C=1800,
%SinA [-SinB—SinC=1Sin 4 Sin Beos g .
(b)) fi#icotx [-2 ( Sinx —cosx ) =3+

CARVAG 2
(1) Bz

FE1:25852:35455, 5 PSR EN G IREAST ¢
R FAEELL
i Cogx Sinx
= 0
| Tanx Cotx
AARPxS-FQx-FS=0 FEHZ ko
AR 6 x2 —24 xy—y2 —150 = 0 ;7 AWML SRS o
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1
-

“e

L)

4e

1

2

3

4.

" 1o
2
8.

b.
6

(2) C#
M= 5810 k& — > B IR LT ¢
RIF T FIHRR

log ( x+1) Hlog (x®—x |1 ) =glog (x*1) }Tog (x -2
Rilh TR M R R E T
R Tan © —Sec 20 =1.

MWLITRRE 2

KFFI R 2R R B (
a®— 2ab-—15b2, ai-[-27b3, a2 |-6ab [-9b2. ‘
T YA =3

x-fFy=858
< 2x—z=-2
L 8x 42y —3z= ¢
i@lﬁii@fr@ﬁﬁ%AsB%f’ EEIHRAC,BD 15 CE@D:%MEWMEE*@J%
2R B — s D REE LEERPRHEPHADBCZRE Q
AFR B BACETT (PQ|AC).

#3248 tanx 1 cotx = 2¢ae2x.

[ 37 A T R et

F ikt —x3—22x2 [-Blx—9= O FEIKIRZ o

EZARRA R R MEEH o .
FTI% BB A LRI R R T RES TR TE B R
BT A RRE AR TR L4 o

FATBIC=T0 k5%

Tan [“TanB ' TanC—TanATanBTanC= 0

B C(32), (14 EEE RS o

Rt —y 2K 0 '
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8.
4e
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2e
e

4o
b.
6.

7.

8.

FHERELRSE
B 4% —4x 6~ 11x4-}-40£3-}-11x2 —4x —17—HRE ,y E—f-‘,{/—ﬁ—‘ . ]
HHRN o
RIE PR BB R VB »
1,2 .83 44 .. n®
whgtatet -t T
Hy2 =2ax i x2=4by ¥ NG HRR o
E A SBE yC ¥ ik » fE=ATPA'BC e
g%k sin3 O +5in50 = 86in® cos2 cos®O.

APahe s K2
FHUERE > R B WE RNUE 2 > BB HZ TEELUERE o
la ib B a-b Z“EH KT
cos? 830 K cosb100,2 [E.
T T SR ¢
(1) wmA=—2, (i) sin B=o
AT ZIFHR (35— 2) Bl —y [1=0%FM ?

REE (-1 R (10D AB2EG R
EHOBALRCH—B

(i) (OAOBI-0C) 5@-12- ( AB [-BCHCA ) =B #A ¢

(ii) (OA+QB+-0C ) ( AB [FBC|-CA ) ZEH K ?
B4 =MAPARCKAB'C HAB =A'B\BC=B'C’. L LA =L A'1E
BHI=ABEE KD
(2,2) Wi FFEx2yo—2x= 0 2K » IMFEEI 2
PR
(i) $=2, (i) O =600

—'—‘Io.o
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10, RFFISIRDK
€1) (xFytz) (m—y—2) (—x|y—2) (—x—yfz).
(it )(a®—ab-{b2 ) (a}b ) 2.
11, % '
x Fytztu= g
ytzfufv=38
ztutviz=1T
wivlxfy=2
vixty-tz=4,
12, &£/ 5@%5—%@ 46C e Js W o
13e MFH=ABZI0, Pl Tl RBLY P =Bir—Ewm kT
14, FHIERES > REWERT > M—Eko

Sin8A . A Qe ey
— 2 o
“SinA_ (i) Sin2A, (ii)Sin24,

(3ii)3-1-4Sin®Ay (iv) 4 cos%A—I.
4
15. # tnx= 8 cosx—4 sinx=
;g = /3, COB X m X
16, (i) ‘logg 4= (i) logp 2=
Ciff) fogg 1= (iv) logy >=

17 3 7= ¢ | H 3n=2m—4 kmEnZffl,

18, kx@f-dy2 —8x= 0 NFRAMEMBFE (i ) k=05 (iidk=1, (iii)
k= — 1 .

19, kg 4 4—3y—-1=0K3x—dy 2= 0 ZRAZPTZ LB »

20, 35 mn ™ pt wn ig= N/ 2, Epa=1.

21. R=FATYABCH » 7 sin®A1-sin®B=5in>C, ;a:g;séﬁh:;ﬁm %BEM
= o

22. fEFRASHR[—-3124 2,

28. k g{ifEks » TITFIANZMEBAT
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24,

2b.
264
27,
28,
29.

30,

31l.

32,

1.

13 x —4
2 8 1 l
i1 8 —B
B ABCD 5K 350038 T¥ 9 HAB=5,BC=3,CD=:3,DA == 8,AC =T,
RBDY ,
ST B 2 L3 4 BUEIAS, RIEE M R2 e 0
skt gl P dx® —9y % =BT LR Z FHiRN o
B LIEE -2 R LREE o
PEE = ATLABCH 2 jlidacosB-[-bcosA==c.
3N
sinA |-cosA=p/ 2,
W = A% ABCZ R BIE @J;%B;zABmT,ﬁ,‘J—,ﬁcAse,cn= 8 sRAT.
it Desargues’ {23 » VEVEMILLF2HH.Z o

R TP EnEZFn
. 1 1 1 1
G gl ggtegtggte
(8) L + E
(1hx) (ik2z) C1-+2x) (143x)
RSN S S
Pty ey T
PLM Z 7L R
(1) B £
Find the following values:

(A) lim ¥ Ix VN I-F ,

x~»0 x

| 3 01 gL
ix2 Psz I f n(nH)’
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2.

8.

B

Ge

2.

(c) jic 8 21
15 12 8
20 s2 12 ].
Solve
rxg —2y2-—x =0,

{252 —By2-{-8y =0,
Two petsons A and B are to draw =alternately one ball at a time
from a bag contaning 3 white and 2 black balls, 1t balls drawn
not being replaced.
If A begins, what chances has each of being the first to draw
a white ball§ What are the respective chances of A and B, if the
balls are feplaced as they are drawn 7
At a distance a feet from Wi foot of a tower, theiangle of elevation
A of the top of the tower is the complement of the angle of ele-
vation of a flagstaff on top of it. Show. that the length ot the staff
is 2 a cot2A feet. ‘
Solve for x between O° and 360°

Sin x -}Cos x=Sec x«

A line is drawn from n fixed point O meeting a fixed line in Q.
Find the locus of a point P on the line such that OP X 0Q ji§ a constant.

(2) & #

Two Points A and B lie on the same 8id& of a straight line L ofi

this line, ,

8. determine the position of a poinit P such thar the sum PA-FPB
i 8 minimume.

b, determine the poSition of 2 point Q such that the difference
QA ~ QB is a maximum.

Prove that AC-BD =AB+CD +BC+AD where A> B+ Cs D are four
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SticcesFive points on 2 straight line.
8. Solve lhe system of equations

1
(et =Ly
lx—y=3% xy.
4, In how msny wéys can 15 books be divided eGually into S gstg of
of 6 bgooks each ?
5. The length of the perimeter of a triangle 15 100 feet end the sngles-
are in the satio 7:4:2. Find the lengths of the sides.
6+ Prove that.

(a) tan 180  .Sin 84°-sin-0

cos 889-}-cog 89

1 1 1 1
b -1 ___+ -1_-[- -1_,—[- -l =
( ) ht:ted tan 5 tan 7 tan 3 =

(=

7. Show that the tangents at the ends of a focal chord of a parabola
intersect orthogonally on the directrix.

[ oy N
R H BB Ll B8 o
REBBELBAE(ES —B o
1. 5% FIZ:RESRK .
(a) x¥—28x2 |-1; (b) y2z2(xt=1){-x2(y%—zt)e
2. iz xpBLERK2x2—bx [-3=02 147 » 3R

o B RRI R

x;.
3. 2§ FRSBOESE
2x3—x2f-1 .
(x—2)+%

o e P : | |
co8 A -}~ cos B | cos C 1 cos ( A+BHC)
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Be
Ge

7.

8

1,

2.

3.

2.

3e

4,

Bi-C C+A AiB
g OB —o— 0B —o—

BAERmARES LIS ) RIE—=/ABo

=4cu

‘R TSR RAE

§=2(1~co8Q ).

.aﬁwﬁﬁZWMﬁﬁ&¢~@ﬁmﬁzzﬁmzﬁﬁ%ﬁ~%m

o

Fasbror B HRERA xS px2--axfr=0248 » L:kBL

o gt e S BRL IR o
AR A2
% Stan-t z-f.IN-g = tan-1 -i—-f‘tan-*% ERx2fE 0

NS B R LS 4 a BT ERIRPE 4 b 0 ) —FA
K PR AR 2 B IR ) [T AT T

R g LRk 0

REHIE x2-yS— b0y =12 2R 2 LR — B
4x p3y-+5=04T o

e PN

BREPTIIEYL - REFRERRE L TR S50 R B 2B A%

[
-4 in Af2 2, tan A/2
sin A=Re 2A,'£:s Ky o
24750 S0 TR 1910 9070 IR %R I 105 1] 97005 & SRS H
120ff R A4 BRE A o
BTHIZBL bR
x® —4yR-[-xJ-3y = 2x—y=1,
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AOSHZ BT i 1 Ih 2 4% L~ 8.9 {EBEBP, fitakz—
Y45 | L]4 PCTOBY 441 & FACFBCB=CP o

RS PESOR /7 L ANPEALSOR PRAR (81,2 I red BELBRHRSEI Y, 900 2 £ o
TRALIRYA 204 FB60° » R IHARL % o -

Fomg g s
Frawet AT T e
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